BOOK ERRATA
p31 1 subscript wrong i = Qg (2.22)

P92  Add parentheses round a’
Q isthe crack density (= (1/V)S <a3>) and v is the Poisson's ratio of the microcracked
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P119 delete minussign = 4.35
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P120 Fig 4.16 r-should be 2 r,
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pl73 For dlip on {100} planes (ato b), the distance between like ions is decreased and

between oppositeions, it isincreased. For slip on {110} (ctod), the distance between like ions
is also decreased but opposite ions are brought closer together, decreasing the overall
electrostatic interaction energy.
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p213. Add U, U =¢———+4cy + U, (8.8)
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p215 2 and 3 switched W =0, Ug=¢c—== (8.12)
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p 281 2 should be superscript Thermodynamic surface energy, J/mg:

p 281. Insert text. In addition, determine the stresses (011, 012 and 622) in the crack plane (6 =
0) at distances of 1 um and 10 um from the crack tip (see problem 4.6).
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p296 m/n-2 is superscript INR; =InR; 9?+ (9.17)
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HEXAGONAL = should be +, = ismissing and = should be negative in first two equations
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where ¢ :c33(cll +012)- 20123
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TETRAGONAL Last term should be
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MONOCLINIC 9™ term should be
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